
SAP ABAP table BAPIHR1006 {HR: Infotype 1006 Restrictions}

BAPIHR1006

CLIENT [CLNT (3)]

PLAN_VER [CHAR (2)]

OBJ_TYPE [CHAR (2)]

INFOTYPE [CHAR (4)]

PL_STATUS [CHAR (1)]

RESTRICTIONS [CHAR (4)]

REASON_FOR_RESTRICTION [CHAR (4)]

T000

MANDT [CLNT (3)]

 BAPIHR1006-CLIENT = T000-MANDT 
0..N

0..N

T778C

MANDT [CLNT (3)]

CONST [CHAR (4)]

 BAPIHR1006-RESTRICTIONS = T778C-CONST 
0..N

0..N

T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]
 BAPIHR1006-OBJ_TYPE = T778O-OTYPE 

0..N

0..N
T778P

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

 BAPIHR1006-PLAN_VER = T778P-PLVAR 
0..N0..N

T778S

MANDT [CLNT (3)]

ISTAT [CHAR (1)]

 BAPIHR1006-PL_STATUS = T778S-ISTAT 

0..N

0..N

T778T

MANDT [CLNT (3)]

INFTY [CHAR (4)]

 BAPIHR1006-INFOTYPE = T778T-INFTY 

0..N

0..N

T778X

MANDT [CLNT (3)]

REASX [CHAR (4)]

 BAPIHR1006-REASON_FOR_RESTRICTION = T778X-REASX 

0..N

0..N


